

(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017
Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737

Email: wbidc@wbidc.com Web: www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Date: 25.11.2020

NOTICE INVITING TENDER

Notice Inviting Tender no: - WBIDC / Protiti / Roof Repair/ 2018/2961

Sealed Tenders are invited by the Managing Director, West Bengal Industrial Development Corporation from reputed and reliable contractor for the work "Painting of Wall and Ceiling at Fifth Floor and Other Locations of Floors in WBIDC, PRATITI Building,23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017" having following item of works.

SI No	Description of the Item	No or Qty	Unit	Estimated Rate (₹)	Amount (₹)
1	Applying Acrylic Emulsion Paint of approved make and brand on walls and ceiling including sand papering in intermediate coats including putty (to be done under specific instruction of Superintending Engineer): (Two coats)				
	5th floor	334.00	Sq.m	70.00	23380.00
	4th floor	33.00	Sq.m	70.00	2310.00
	3rd floor	35.00	Sq.m	70.00	2450.00
	2nd floor	11.00	Sq.m	70.00	770.00
	1st floor	11.00	Sq.m	70.00	770.00
	Ground floor	93.00	Sq.m	70.00	6510.00
2	Applying Interior grade Acrylic Primer of approved quality and brand on plastered or concrete surface old or new surface to receive Distemper/ Acrylic emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. (In Ground Floor) (a) One Coat i) Water based interior grade Acrylic Primer.				
	5th floor	334.00	Sq.m	30.80	10287.20
	4th floor	33.00	Sq.m	30.80	1016.40
	3rd floor	35.00	Sq.m	30.80	1078.00
	2nd floor	11.00	Sq.m	30.80	338.80
	1st floor	11.00	Sq.m	30.80	338.80
	Ground floor	93.00	Sq.m	30.80	2864.40



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email: wbidc@wbidc.com Web: www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

3	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary : (a) On timber or plastered surface : Two coats (white in shade)	8.00	Sq.m	78.00	624.00
4	Cleaning the walls and ceiling by scraping, sand papering and smoothening down the surface including putting.	45.00	Sq.m	17.00	765.00
5	Repairing crack in wall by cement grouting (1:2) including widening the crack on the surface (into V section) cleaning and packing the same with cement mortar (1:2) and finishing off to match with adjacent surface. (Cement-69 Kg/100 m). (a) In all floors.	20.00	Mtr	13.92	278.40
6	Supplying, fitting & fixing OW Acoustic Board (mineral Fibre Acoustic Ceiling Tiles) of approved patern and size595mm X595mm with NRC value > 0.65 should be placed in the Grid module to form a false ceiling all complete as per drawing & direction of Engineer - in-Charge. False ceiling with (i)15mm thick OW Acoustic Board/Tiles.	4.00	Sq.m	727.00	2908.00
7	Supply and apply PU Sealants conforming to BS 5212, with elastic recovery 70%, service temperature -40 °C to +90°C, Shore A Hardness-30, specific gravity -1.16±2, ShaliSeal PU GG over brickwork/concrete and glazing joint after necessary surface preparation by removing flakes, rusts and application of primer ShaliPUM in one coat.	10.00	Mtr	400.00	4000.00
8	Shifting of furniture, electrical/ electronics gadgets before taking up the work(painting), and store the same in a suitable safe places as and when necessary and subsequently reinstead to its original position safely.	1.00	L/S	2000.00	2000.00
TOTAL (Excluding GST and LWC)					₹ 62,689.00

Rupees in wards:-



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017

Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737 Email: wbidc@wbidc.com Web: www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Date of publication of tender: 25/11/2020 by 10.00A.M, in office notice board.

Bid submission start date: 26/11/2020 by 12.00 noon onward up to 4:00 P.M. every day only on

working days.

Last date of submission of bid: 04/12/2020 by 1.00P.M

Date of opening of quotation: 07/12/2020 at 2.00PM.

Terms and Conditions.

1. The quotations to be submitted in sealed envelope in the drop box kept in the office of WBIDC i.e PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017. The envelop should be superscribed as "Quotation for Painting of Wall and Ceiling at Fifth Floor and Other Locations of Floors in WBIDC, PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017" and should contain the name and address of the quotationer.

- 2. The quotationer will have to submit the following documents along with the quotation.
 - a) Self –attested photo copy of valid GST registration certificate.
 - b) Self-attested photocopy of valid trade license.
 - c) Self-attested photocopy of PAN card.
 - d) Credentials of execution of same kind of work.
 - e) Scan copy of RTGS/ NEFT detail of performance security deposit.

Quotations received without the above mentioned documents will be summarily rejected.

- 3) The bidder quoting the lowest rates, if all other conditions are satisfied, may be issued to work contract.
- 4. The quoted price should be excluding of **GST** as applicable. **GST** will be paid separately.
- 5. No mobilization charges shall be considered against the above work either separately or inclusive with the quoted rate.
- 6. The work, mentioned above, to be completed successfully and full satisfaction of the departmental engineer within **30**(thirty) days from the date of issuance of work order, and the **Defect Liability Period** for this work is **180** days after completion of this work in all respect.



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017
Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737
Email: wbidc@wbidc.com Web: www.wbidc.com

Email: wbidc@wbidc.com Web: www.wbidc.com
Corporate Identity Number: U75142WB1967SGC026988

- 7. Other Statutory deduction towards IT etc. or as applicable will be deducted from the bill / bills.
- 8. Payment will be made only after successful completion of the work in all respect.
- 9. All payment will be made in account payee cheque / direct bank transfer only.
- 10. The participant in the quotation process may remain present personally or may send their authorized representative during opening of their quotations.
- 11. Submission of quotation will imply that the quotationer will abide by all the terms and conditions of this "Notice Inviting Tender".
- 12. Contractor shall have to arrange all materials and machineries required for the job. No material will be issued by the department.
- 13. The bidder/ quotationer will sign on every page of N.I.T as a token of acceptance of the terms and condition
- 14. Conditional quotation will not be accepted and shall be deemed as "informal"
- 15. In case of any dispute arise during execution of the work or after completion of the work, Managing Director, WBIDCL reserves the right to accept / cancel/ change/ modify this notice completely or partially without giving any notice to anybody.

Performance security/ Security deposit: ₹ 6,300/-

Mode of payment: RTGS or NEFT

Account details- Account Name: WEST BENGAL INDUSTRIAL DEVELOPMENT

CORPORATION LIMITED

Account Number: 011010200021340
Bank's Name: Axis Bank Limited.
Branch Name: Golpark, Kolkata-19.

IFS Code: UTIB0000011

By order,

Managing Director WBIDC



(A GOVERNMENT OF WEST BENGAL UNDERTAKING)

"PROTITI", 23, Abanindranath Thakur Sarani (Camac Street), Kolkata-700017
Phone: + 91 33 2255 3700-705 Fax: + 91 33 2255 3737

Email: wbidc@wbidc.com Web: www.wbidc.com Corporate Identity Number: U75142WB1967SGC026988

Name, Address, Contact No. of Bidder (Filled by the bidder):

ANNEXTURE.

Schedule for the work "Painting of Wall and Ceiling at Fifth Floor and Other Locations of Floors in WBIDC, PRATITI Building, 23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017"

Ref: - N. I. T. No. WBIDC / Protiti / Roof Repair/ 2018/2961

SI no	Name of the Work.	Quantity.	Rate to be quoted in percentage over the estimated amount (in figure)	Rate to be quoted in percentage over the estimated amount (in words)
1.	Painting of Wall and Ceiling at Fifth Floor and Other Locations of Floors in WBIDC, PRATITI Building,23, Abanindranath Thakur Sarani, (Camac street), Kolkata – 700017	One complete item of work consisting item no. 1 to 8 of priced schedule.		

Rupees in words (For office use only):-

Name with signature and seal by the quotationer

Managing Director WBIDC

Date: 25.11.2020